

ON THE GLOBAL BEHAVIOR OF THE RATIONAL SYSTEM

$$x_{n+1} = \frac{\alpha_1}{x_n + y_n} \quad \text{AND} \quad y_{n+1} = \frac{\alpha_2 + \beta_2 x_n + y_n}{y_n}$$

E.A. GROVE, D. HADLEY, E. LAPIERRE AND S.W. SCHULTZ

Dedicated to Mustafa Kulenović on the occasion of his 60th birthday and for all his support and guidance

ABSTRACT. We investigate the system of rational difference equations in the title, where the parameters and the initial conditions are positive real numbers. We show that the system is permanent and has a unique positive equilibrium which is locally asymptotically stable. We also find sufficient conditions to insure that the unique positive equilibrium is globally asymptotically stable.

1. INTRODUCTION

We show that the system of rational difference equations

$$\begin{cases} x_{n+1} = \frac{\alpha_1}{x_n + y_n} \\ y_{n+1} = \frac{\alpha_2 + \beta_2 x_n + y_n}{y_n} \end{cases}, \quad n = 0, 1, \dots \quad (1)$$

is permanent, where the parameters $\alpha_1, \alpha_2, \beta_2$ and the initial conditions x_0, y_0 of the system are positive real numbers. We actually show that there exist positive real numbers l_1, l_2, L_1, L_2 such that for every positive solution $\{(x_n, y_n)\}_{n=0}^{\infty}$ of System (1), we have

$$l_1 < x_n < L_1 \quad \text{and} \quad l_2 < y_n < L_2 \quad \text{for } n \geq 3.$$

We show that the system has a unique positive equilibrium which is locally asymptotically stable. We also find sufficient conditions to insure that the unique positive equilibrium is globally asymptotically stable.

2000 *Mathematics Subject Classification.* 39A10, 39A11.

Key words and phrases. Bounded solutions, system of rational difference equations.

For the last four years we have been interested in the boundedness character and the global behavior of systems of rational difference equations. This paper is part of a general project which involves the system of rational difference equations

$$\begin{cases} x_{n+1} = \frac{\alpha_1 + \beta_1 x_n + \gamma_1 y_n}{A_1 + B_1 x_n + C_1 y_n} \\ y_{n+1} = \frac{\alpha_2 + \beta_2 x_n + \gamma_2 y_n}{A_2 + B_2 x_n + C_2 y_n} \end{cases}, \quad n = 0, 1, \dots$$

which includes 2401 special cases. In the numbering system which was introduced by Camouzis, Kulenović, Ladas, and Merino in ([6]), System (1) is # (12, 41). Related work has recently been given in ([1]-[11]) and ([14]-[19]).

The following well-known result is needed for the local asymptotic stability analysis of the equilibrium of System (1).

Theorem 1.1. *Let $F = (f, g)$ be a continuously differentiable function defined on an open set W in R^2 , and let (\bar{x}, \bar{y}) in W be a fixed point of F .*

- (1) *If all the eigenvalues of the Jacobian matrix $J_F(\bar{x}, \bar{y})$ have modulus less than one, then the equilibrium point (\bar{x}, \bar{y}) is locally asymptotically stable.*
- (2) *If at least one of the eigenvalues of the Jacobian matrix $J_F(\bar{x}, \bar{y})$ has modulus greater than one, then the equilibrium point (\bar{x}, \bar{y}) is unstable.*

The following theorem gives necessary and sufficient conditions for the two roots of a quadratic equation to have modulus less than one.

Theorem 1.2. ([13]) *Assume p and q are real numbers. Then a necessary and sufficient condition for both roots of the equation*

$$\lambda^2 + p\lambda + q = 0$$

to have modulus less than 1 is that

$$|p| < 1 + q < 2.$$

The next theorem gives a sufficient condition to insure that there exists a unique positive equilibrium, and it is a global attractor. Let k be a positive integer. For $i \in \{1, \dots, k\}$, assume $[a_i, b_i]$ is a closed and bounded interval, and let $F^i : [a_1, b_1] \times \dots \times [a_k, b_k] \rightarrow [a_i, b_i]$ be a continuous function. For each $i, j \in \{1, \dots, k\}$, let $M_{i,j} : [a_i, b_i] \rightarrow [a_i, b_i]$ and $m_{i,j} : [a_i, b_i] \rightarrow [a_i, b_i]$ be defined as follows: given $m_i, M_i \in [a_i, b_i]$

set

$$M_{i,j}(m_i, M_i) = \begin{cases} M_i, & \text{if } F^j \text{ is increasing in } z_i \\ m_i, & \text{if } F^j \text{ is non-increasing in } z_i \end{cases}$$

and

$$m_{i,j}(m_i, M_i) = M_{i,j}(M_i, m_i).$$

Theorem 1.3. ([12]) *Assume that each $i \in \{1, \dots, k\}$, $[a_i, b_i]$ is a closed and bounded interval of real numbers, and the function*

$$F^i : C([a_1, b_1] \times \dots \times [a_k, b_k], [a_i, b_i]),$$

satisfies the following conditions:

- (1) $F^i(z_1, \dots, z_k)$ is weakly monotonic in each of its arguments.
- (2) If $M_1, \dots, M_k, m_1, \dots, m_k$, where $m_i \leq M_i$ for each $i \in \{1, \dots, k\}$, is a solution of the system of $2k$ equations:

$$\begin{cases} M_i = F^i(M_{1,i}(m_1, M_1), \dots, M_{k,i}(m_k, M_k)) \\ m_i = F^i(m_{1,i}(m_1, M_1), \dots, m_{k,i}(m_k, M_k)) \end{cases}, \quad i \in \{1, \dots, k\}$$

then

$$M_i = m_i, \text{ for all } i \in \{1, \dots, k\}.$$

Then the system of k difference equations:

$$\begin{cases} x_{n+1}^1 = F^1(x_n^1, \dots, x_n^k) \\ x_{n+1}^2 = F^2(x_n^1, \dots, x_n^k) \\ \vdots \\ x_{n+1}^k = F^k(x_n^1, \dots, x_n^k) \end{cases}, \quad n = 0, 1, \dots$$

with initial condition $(x_0^1, \dots, x_0^k) \in [a_1, b_1] \times \dots \times [a_k, b_k]$, has exactly one equilibrium point $(\bar{x}^1, \dots, \bar{x}^k)$, and it is a global attractor.

2. LOCAL STABILITY OF SYSTEM (1)

Lemma 2.1. *System (1) has a unique equilibrium (\bar{x}, \bar{y}) . Moreover, (\bar{x}, \bar{y}) is locally asymptotically stable.*

Proof. Suppose (\bar{x}, \bar{y}) is a feasible equilibrium of System (1). That is

$$\bar{x} = \frac{\alpha_1}{\bar{x} + \bar{y}} \quad \text{and} \quad \bar{y} = \frac{\alpha_2 + \beta_2 \bar{x} + \bar{y}}{\bar{y}}.$$

Note that $\bar{x} < \sqrt{\alpha_1}$ and $\bar{y} = \frac{\alpha_1 - \bar{x}^2}{\bar{x}}$

and so

$$\frac{\alpha_1 - \bar{x}^2}{\bar{x}} = \bar{y} = \frac{\alpha_2 + \beta_2 \bar{x} + \bar{y}}{\bar{y}} = \frac{\alpha_2 + \beta_2 \bar{x} + \frac{\alpha_1 - \bar{x}^2}{\bar{x}}}{\frac{\alpha_1 - \bar{x}^2}{\bar{x}}}.$$

After simplifying we have

$$\alpha_2 \bar{x}^2 + \beta_2 \bar{x}^3 + \alpha_1 \bar{x} - \bar{x}^3 - (\alpha_1 - \bar{x}^2)^2 = 0.$$

Set

$$f(x) = x^4 + (1 - \beta_2)x^3 - (2\alpha_1 + \alpha_2)x^2 - \alpha_1x + \alpha_1^2. \tag{2}$$

Thus in order to show that there exists a unique equilibrium (\bar{x}, \bar{y}) , it suffices to show $f(x) = 0$ has a unique positive solution less than $\sqrt{\alpha_1}$. By Descartes' rule of signs we know (2) has at most two positive roots. We also see that $f(0) = \alpha_1^2 > 0$ and $f(\sqrt{\alpha_1}) = -\alpha_1(\sqrt{\alpha_1}\beta_2 + \alpha_2) < 0$. Since $f(x)$ is a fourth degree polynomial with a positive leading coefficient we know that it has a minimum of two positive roots. Therefore there are exactly two positive roots; one root is less than $\sqrt{\alpha_1}$, and the other is greater than $\sqrt{\alpha_1}$. Thus the proof is complete. \square

We shall now investigate the linearized stability of the equilibrium (\bar{x}, \bar{y}) of System (1).

Let

$$f(x, y) = \frac{\alpha_1}{x + y} \quad \text{and} \quad g(x, y) = \frac{\alpha_2 + \beta_2x + y}{y}.$$

Then

$$\mathcal{J}_{(\bar{x}, \bar{y})} = \begin{pmatrix} \frac{\partial f}{\partial \bar{x}} & \frac{\partial f}{\partial \bar{y}} \\ \frac{\partial g}{\partial \bar{x}} & \frac{\partial g}{\partial \bar{y}} \end{pmatrix} = \begin{pmatrix} \frac{-\alpha_1}{(\bar{x} + \bar{y})^2} & \frac{-\alpha_1}{(\bar{x} + \bar{y})^2} \\ \frac{\beta_2}{\bar{y}} & \frac{-(\alpha_2 + \beta_2\bar{x})}{\bar{y}^2} \end{pmatrix} = \begin{pmatrix} \frac{-\bar{x}^2}{\alpha_1} & \frac{-\bar{x}^2}{\alpha_1} \\ \frac{\beta_2}{\bar{y}} & \frac{1 - \bar{y}}{\bar{y}} \end{pmatrix}.$$

The characteristic equation of the linearized equation of System (1) about the equilibrium (\bar{x}, \bar{y}) is

$$\lambda^2 + \frac{\bar{x}^2\bar{y} - \alpha_1(1 - \bar{y})}{\alpha_1\bar{y}}\lambda + \frac{\bar{x}^2(\bar{y} - 1 + \beta_2)}{\alpha_1\bar{y}} = 0.$$

By Theorem 1.2 we see that both roots are real and lie within the unit disk. Therefore by Theorem 1.1, the unique positive equilibrium (\bar{x}, \bar{y}) is locally asymptotically stable.

3. PERMANENCE

We say that System (1) is permanent if there exists real numbers l_1, L_1, l_2 , and L_2 such that for every positive solution $\{(x_n, y_n)\}_{n=0}^\infty$ of System (1), there exists an integer $N \geq 0$, such that

$$l_1 < x_n < L_1 \quad \text{and} \quad l_2 < y_n < L_2 \quad \text{for every integer } n \geq N.$$

With this in mind, define l_1, L_1, l_2 , and L_1 as follows:

- (1) $l_1 = \frac{\alpha_1}{\alpha_1 + \alpha_2 + 1 + \beta_2\alpha_1}$
- (2) $L_1 = \alpha_1$
- (3) $l_2 = 1$

$$(4) \quad L_2 = \alpha_1 + 1 + \beta_2 \alpha_1.$$

Theorem 3.1. *System (1) is permanent. In particular, let $\{(x_n, y_n)\}_{n=0}^{\infty}$ be a positive solution of System (1). Then for every integer $n \geq 4$, we have*

$$l_1 < x_n < L_1 \quad \text{and} \quad l_2 < y_n < L_2.$$

Proof. Given a non-negative integer $n \geq 0$, note that

$$x_{n+1} = \frac{\alpha_1}{x_n + y_n} \in (0, \infty)$$

and

$$y_{n+1} = \frac{\alpha_2 + \beta_2 x_n + y_n}{y_n} = \frac{\alpha_2 + \beta_2 x_n}{y_n} + 1 \in (1, \infty).$$

Thus $y_n > 1 = l_2$ for $n \geq 1$.

Hence if $n \geq 1$, then

$$0 < x_{n+1} = \frac{\alpha_1}{x_n + y_n} < \frac{\alpha_1}{0 + 1} = \alpha_1$$

and so $x_n < L_1$ for $n \geq 2$.

Hence if $n \geq 2$, then

$$y_{n+1} = \frac{\alpha_2 + \beta_2 x_n + y_n}{y_n} < \frac{\alpha_2 + \beta_2 \alpha_1 + 1}{1} = L_2.$$

That is, for every integer $n \geq 3$ we have

$$l_2 < y_n < L_2.$$

If $n \geq 3$, then

$$x_{n+1} = \frac{\alpha_1}{x_n + y_n} > \frac{\alpha_1}{\alpha_1 + \alpha_2 + \beta_2 \alpha_1 + 1} = l_1.$$

That is, for every integer $n \geq 4$ we have

$$l_1 < x_n < L_1$$

and the proof is complete. \square

4. GLOBAL ASYMPTOTIC STABILITY OF SYSTEM (1)

The following theorem gives a sufficient condition for the unique equilibrium of System (1) to be globally asymptotically stable.

Theorem 4.1. *Suppose that either*

$$0 < \alpha_2 \leq \frac{\alpha_1 \beta_2^2}{1 + \beta_2} - 2\sqrt{\frac{\alpha_1 \beta_2^2}{1 + \beta_2}}$$

or

$$\frac{\alpha_1 \beta_2^2}{1 + \beta_2} \leq \alpha_2.$$

Then the unique equilibrium point (\bar{x}, \bar{y}) is globally asymptotically stable.

Proof. The proof will be by Theorem 1.3. For $(x, y) \in [0, \infty) \times (0, \infty)$, set

$$f(x, y) = \frac{\alpha_1}{x + y} \quad \text{and} \quad g(x, y) = \frac{\alpha_2 + \beta_2 x + y}{y}$$

and let $\mathcal{R} = [a, b] \times [c, d] = [0, \alpha_1] \times [1, \alpha_2 + \beta_2 \alpha_1 + 1]$. Let $T : [0, \infty) \times (0, \infty) \rightarrow (0, \infty) \times (0, \infty)$ be given by $T(x, y) : (f(x, y), g(x, y))$.

We shall first show that $T[\mathcal{R}] \subset \mathcal{R}$. Suppose $(x, y) \in \mathcal{R}$. It suffices to show that

$$f(x, y) \in [a, b] \quad \text{and} \quad g(x, y) \in [c, d].$$

- (1) We shall first show that $a < f(x, y)$.

Note that

$$a = 0 < \frac{\alpha_1}{x + y} = f(x, y).$$

- (2) We shall next show that $f(x, y) \leq b$.

We have

$$f(x, y) = \frac{\alpha_1}{x + y} \leq \frac{\alpha_1}{a + c} = \frac{\alpha_1}{0 + 1} = \alpha_1 = b.$$

- (3) We shall next show that $c < g(x, y)$.

$$c = 1 < \frac{\alpha_2 + \beta_2 x}{y} + 1 = \frac{\alpha_2 + \beta_2 x + y}{y} = g(x, y).$$

- (4) Finally, we shall show that $g(x, y) \leq d$.

Now

$$g(x, y) = \frac{\alpha_2 + \beta_2 x + y}{y} \leq \frac{\alpha_2 + \beta_2 b + 1}{1} = \alpha_2 + \beta_2 \alpha_1 + 1 = d.$$

Thus $T[\mathcal{R}] \subset \mathcal{R}$.

Clearly f is strictly decreasing in x and strictly decreasing in y , and g is strictly increasing in x and strictly decreasing in y . So to apply Theorem

1.3, suppose $(m_1, M_1, m_2, M_2) \in [0, \alpha_1]^2 \times [1, \alpha_2 + 1 + \beta_2 \alpha_1]^2$ is a solution of the system of equations

$$\begin{cases} m_1 = \frac{\alpha_1}{M_1 + M_2} & , \quad M_1 = \frac{\alpha_1}{m_1 + m_2} \\ m_2 = \frac{\alpha_2 + \beta_2 m_1 + M_2}{M_2} & , \quad M_2 = \frac{\alpha_2 + \beta_2 M_1 + m_2}{m_2} \end{cases}$$

with

$$0 \leq m_1 \leq M_1 \leq \alpha_1 \quad \text{and} \quad 1 \leq m_2 \leq M_2 \leq \alpha_2 + 1 + \beta_2 \alpha_1.$$

It suffices to show that

$$m_1 = M_1 \quad \text{and} \quad m_2 = M_2.$$

For the sake of contradiction, suppose that this is not the case.

Now

$$m_1 M_1 + m_1 M_2 = \alpha_1 = M_1 m_1 + M_1 m_2$$

and so $m_1 M_2 = M_1 m_2$. Since $m_1 = \frac{\alpha_1}{M_1 + M_2}$, we see m_1 is positive, and so as $m_1 M_2 = M_1 m_2$, we have

$$0 < m_1 < M_1 \quad \text{and} \quad 1 < m_2 < M_2.$$

Hence

$$M_2 = \frac{m_2}{m_1} M_1.$$

We also have

$$\alpha_2 + \beta_2 m_1 + M_2 = m_2 M_2 = \alpha_2 + \beta_2 M_1 + m_2.$$

Therefore $\beta_2 m_1 + M_2 = \beta_2 M_1 + m_2$, and hence

$$M_2 - m_2 = \beta_2 M_1 - \beta_2 m_1.$$

Thus

$$\beta_2 (M_1 - m_1) = M_2 - m_2 = \frac{m_2}{m_1} M_1 - m_2 = \frac{m_2}{m_1} (M_1 - m_1).$$

So as $M_1 \neq m_1$, we have

$$\beta_2 = \frac{m_2}{m_1} \neq 0.$$

That is,

$$m_2 = \beta_2 m_1 \quad \text{and} \quad M_2 = \beta_2 M_1.$$

Recall that

$$m_1 = \frac{\alpha_1}{M_1 + M_2} = \frac{\alpha_1}{M_1 + \beta_2 M_1} = \frac{\alpha_1}{(1 + \beta_2) M_1}$$

and so

$$m_1 M_1 = \frac{\alpha_1}{1 + \beta_2}.$$

Thus

$$\begin{aligned} (1) \quad M_1 &= \frac{\alpha_1}{1 + \beta_2} \cdot \frac{1}{m_1}. \\ (2) \quad m_2 &= \beta_2 m_1. \\ (3) \quad M_2 &= \beta_2 M_1 = \frac{\alpha_1 \beta_2}{1 + \beta_2} \cdot \frac{1}{m_1}. \end{aligned}$$

In particular, since $m_2 = \beta_2 m_1$, we see that

$$\frac{1}{\beta_2} m_2 M_2 = m_1 M_2 = \frac{\alpha_1 \beta_2}{1 + \beta_2}$$

and so

$$m_2 M_2 = \frac{\alpha_1 \beta_2^2}{1 + \beta_2}.$$

Thus

$$\begin{aligned} \frac{\alpha_1 \beta_2^2}{1 + \beta_2} &= m_2 M_2 = \alpha_2 + \beta_2 m_1 + M_2 \\ &= \alpha_2 + \beta_2 m_1 + \beta_2 M_1 \\ &= \alpha_2 + \beta_2 m_1 + \frac{\alpha_1 \beta_2}{1 + \beta_2} \cdot \frac{1}{m_1} \end{aligned}$$

and so

$$0 = \beta_2 m_1^2 + \left(\alpha_2 - \frac{\alpha_1 \beta_2^2}{1 + \beta_2} \right) m_1 + \frac{\alpha_1 \beta_2}{1 + \beta_2}.$$

We also have

$$\begin{aligned} \frac{\alpha_1 \beta_2^2}{1 + \beta_2} &= m_2 M_2 = \alpha_2 + \beta_2 M_1 + m_2 = \alpha_2 + \beta_2 M_1 + \beta_2 m_1 \\ &= \alpha_2 + \beta_2 M_1 + \frac{\alpha_1 \beta_2}{1 + \beta_2} \cdot \frac{1}{M_1} \end{aligned}$$

and thus

$$0 = \beta_2 M_1^2 + \left(\alpha_2 - \frac{\alpha_1 \beta_2^2}{1 + \beta_2} \right) M_1 + \frac{\alpha_1 \beta_2}{1 + \beta_2}.$$

That is, m_1 and M_1 are the two distinct roots of the quadratic equation

$$\beta_2 z^2 + \left(\alpha_2 - \frac{\alpha_1 \beta_2^2}{1 + \beta_2} \right) z + \frac{\alpha_1 \beta_2}{1 + \beta_2} = 0.$$

Hence

$$0 < m_1 = \frac{\left(\frac{\alpha_1\beta_2^2}{1+\beta_2} - \alpha_2\right) - \sqrt{\left(\alpha_2 - \frac{\alpha_1\beta_2^2}{1+\beta_2}\right)^2 - \frac{4\alpha_1\beta_2^2}{1+\beta_2}}}{2\beta_2}$$

and

$$m_1 < M_1 = \frac{\left(\frac{\alpha_1\beta_2^2}{1+\beta_2} - \alpha_2\right) + \sqrt{\left(\alpha_2 - \frac{\alpha_1\beta_2^2}{1+\beta_2}\right)^2 - \frac{4\alpha_1\beta_2^2}{1+\beta_2}}}{2\beta_2}.$$

So by our hypothesis this is a contradiction, and the proof of the theorem is complete. \square

Extensive computer simulations lead us to the following conjecture:

Conjecture 4.1. *The unique positive equilibrium of System (1) is globally asymptotically stable for the entire range of the parameters.*

REFERENCES

- [1] A. M. Amleh, E. Camouzis and G. Ladas, *On the dynamics of a rational difference equation, Part 1*, Int. J. Difference Equ., 3 (2008), 1–35.
- [2] A. M. Amleh, E. Camouzis and G. Ladas, *On the dynamics of a rational difference equation, Part 2*, Int. J. Difference Equ., 3 (2008), 195–225.
- [3] A. Brett, E. Camouzis, C. Lynd and G. Ladas, *On the boundedness character of a rational system*, JNMaS, (2009), 1–10.
- [4] E. Camouzis, M. Drymonis and G. Ladas, *On the global character of the system $x_{n+1} = \frac{\alpha_1}{x_n + y_n}$ and $y_{n+1} = \frac{\gamma_2 y_n}{B_2 x_n + y_n}$* , Comm. Appl. Nonlinear Anal., 16 (2009), 51–64.
- [5] E. Camouzis, A. Gilbert, M. Heissan and G. Ladas, *On the boundedness character of the system $x_{n+1} = \frac{\alpha_1 + \gamma_1 y_n}{x_n}$ and $y_{n+1} = \frac{\alpha_2 + \beta_2 x_n + \gamma_2 y_n}{A_2 + x_n + y_n}$* , Comm. Appl. Nonlinear Anal., (2009), 41–50.
- [6] E. Camouzis, M. R. S. Kulenović, G. Ladas and O. Merino, *Rational systems in the plane*, J. Difference Equ. Appl., 15 (2009), 303–323.
- [7] E. Camouzis and G. Ladas, *Dynamics of Third-Order Rational Difference Equations; With Open Problems and Conjectures*, Chapman & Hall/CRC Press, 2008.
- [8] E. Camouzis and G. Ladas, *Global results on rational systems in the plane, Part I*, J. Difference Equ. Appl., 14 (2009), 433–458.
- [9] D. Clark, M. R. S. Kulenović and J.F. Selgrade, *On a system of rational difference equations*, J. Difference Equ. Appl., 11 (2005), 565–580.
- [10] J. M. Cushing, *Periodically forced nonlinear systems of difference equations*, J. Difference Equ. Appl., 3 (1998), 547–561.

- [11] E. A. Grove, Y. Kostrov, M. A. Radin and S. W. Schultz, *On the global behavior of $x_{n+1} = \frac{\alpha_1}{x_n + y_n}$ and $y_{n+1} = \frac{\alpha_2 + y_n}{B_2 x_n + y_n}$* , Comm. Appl. Nonlinear Anal., 14 (2007), 33–56.
- [12] E. A. Grove and G. Ladas, 2005, *Periodicities in Nonlinear Difference Equations* (Chapman & Hall/CRC Press).
- [13] M. R. S. Kulenović and G. Ladas, 2001, *Dynamics of Second Order Rational Difference Equations with Open Problems and Conjectures* (Chapman & Hall/CRC Press).
- [14] M. R. S. Kulenović and M. Nurkanović, *Basins of attraction of an anti-competitive system of difference equations in the plane*, Comm. Appl. Nonlinear Anal., 2 (2012), 41–53.
- [15] M. R. S. Kulenović and M. Nurkanović, *Asymptotic behavior of a competitive system of linear fractional difference equations*, J. Inequal. Appl. (2005), 127–144.
- [16] M. R. S. Kulenović and O. Merino, *Competitive-exclusion versus competitive-coexistence for systems in the plane*, Discrete Cont. Dyn. Syst. Ser., B 6 (2006), 1141–1156.
- [17] M. R. S. Kulenović and O. Merino, *A global attractivity result for maps with invariant boxes*, Discrete Cont. Dyn. Syst. Ser. B, 6 (2006), 97–110.
- [18] G. Lugo and F. J. Palladino, *A note on local stability and the m-M theorem*, J. Difference Equ. Appl., (2011) DOI:10.1080/10236198.2011.555764
- [19] E. Magnucka-Blandzi and J. Pospenda, *On the asymptotic behavior of a rational system of difference equations*, J. Difference Equ. Appl., 5 (1999), 271–286.

(Received: March 26, 2012)

(Revised: August 19, 2012)

E.A. Grove and D. Hadley
 Department of Mathematics
 University of Rhode Island
 Kingston, Rhode Island, 02881-0816, USA

E. Lapierre
 Department of Mathematics
 Johnson and Wales University
 Providence, Rhode Island 02903, USA
 E-mail: rlapierre2@verizon.net

S.W. Schultz
 Department of Mathematics and Computer Science
 Providence College
 Providence, Rhode Island 02918, USA